RIESEEN

T R2EL EiE4925 CHEAA)
X-N\RPEHE BRIEEERTEF




ES LT e

=
%4 R2EL EHiE49 25 (EPE) £ NRPEE  EBRERER E I TARERE TS
LESH A MR
THH - THE - fER - A JRRE BT b gy HiA A%H B - SR Sk
R EtT
e
FEgRekat
S
ERERER

S

At 2 =
e

RITRHEREFT S Wik gz )| =

RARHERE & D& BHERR 25

Bl T
e

i R S R T
S

AR T DR FA 0 =
S

e ISR G TR 5
5%

FEmRh /K TE%FT 0 it "
i

AR (8 FT O fE B A A F 0@ =
&

IR T AERRE T U 5 5
e

=N

m




e RS

AR

=
%54 ReBL ME4025 (RO % AKTEHE HREHR % W | LARIED
LESH A MR
SH - T - B - ) itk (i # 4 e B AR fii%
b K Laxat FOR =
15
Tt 5
N
BT LR E 8%
B
ERER
"
R
N
RF AR
N
B AE T (Al ) e
"
ERRR IR
N
BT RRRIPRR @E) BEMSER R, TARRE SRR
N
ETYn
"
13> v AR 65
[l
PR
"
TR A 5
A




e RS

AR

=
(W4 (R2EL EE49 2% (I - NKTEE  ERERER ¥ M= ARG
¥ I H [R5
THA - T/ - &R - ) JRAK AL # HAfff KA B - KA i
ot
*
R A B W g
AH
EERM (FoftFAmER< )
t
Z O S A N 95
=
t
BXEI S MR
t
FHE &
t
FEYE S £
t
A FEVE A
t
AR FEE R KRR U, (eea o Y=
s
it FH
t
AR B
&
R
t

=
i
i




e RS

AEEHPIER

=
(W4 (R2EL EE49 2% (I - NKTEE  ERERER * fit 23S
¥ I H i FH R £
THA - T/ - &R - ) HikE AL & HAfff x| B - KA i
A BMER ) £ H 105
km 0. 04
FRWTHI 2 H o115
km 0.04
M &
= 1
B
= 1
B i
= 1
B FTRETES
(km2) 2 (0.001)1
E I
= 1
EECRL B
= 1
FERE N 125
= 1
T 2B
= 1
eSS
= 1
THEBLFE 2 %A
= 1
= 1

=
i
S




N = EEAE A 2020. 05
1 /ﬁ( W :Ri B AEA  [2020.05
/N = e
pr— 55 5 AR AR 1.000-00000 0.0 0
NoO1E ax ek HR2[E]
A F - K P3G HLAL gy H x| ]
: sl s
¥
HEBAE TR N 135
=X
HITE
HRHT A I
&
R AN IRE N 15E
.
At
N = FEAE A 2020. 05
1 /ﬁ( W ﬁR% BB [2020.05
arE TS TR 1.000-00000 0.0 0
|j;] 2% AX AT
R — Gl HEAL s ELf & LS
AXAETATH] T
=X 1
At

=
i
i




N = B sk 4 A 2020. 05
1 /ﬁ( W ﬁR% B AEA  [2020.05
SIS IR IR 1.000-00000 0.0 0
L et s I3 B TR ]
N 35 =
LR - HikE & =<¥iva g BT &HE il
G T 22
fe2 K
= 1
&t
-6 - ,



A A A A 2020. 05

1 yﬁ( W §R = A A A 2020. 05
H - SRR 1. 000-00000 0.0 0

FI175
e “%wﬁﬁﬁwﬁﬁﬁﬁ i
LR - HikE ESs =<¥iva $om BT KA T 22

B Hh kA B O14E
i 1

MBI R A B 15%
i 1.05

TR E 165
i 1.05
i 0.7
i 1

-y

|
-

|
=
i
i



A A A A 2020. 05

Y ==
1 /ﬁ( W ﬁR % B AEA  [2020.05
SRR 1. 000-00000 0.0 0

Vaks
N 5E Rl (5 AT D R R R A T 0 #R -
LR - HikE ESs =<¥iva $om BT &HE il
G | T 22
T H
R Mt A o145
i 1
MBI R A =
167
i 1.05
TR ~HERE H
B 16%
i 1.05
RIS XIERL v
175
i 0.7
WEZER
B 18%
i 1
-y

|
[0e]

|
=
i
i



A A A A 2020. 05

1 yjh\ W %R % ffﬁﬁﬂ%ﬁﬂ 2020. 05

F SRR 1. 000-00000 0.0 0

N eE T A ERRE T 0 #R
LR - HikE ESs =<¥iva $om BT KA T 22

RTR Tk O B 29%
pre 1

AR Ho 305
pre 0.9

R H 31%
-8 0.9

AR AT B 325
pre 0.9

WEZER H 335
pre 0.9

-y

|
Ne)

|
=
i
i




N = B sk 4 A 2020. 05
1 /ﬁ( W :Ri B AEA  [2020.05
H = e S ik [
PP 5 S aREEAR B 1.000-00000 0.0 0
N TE z
= SRR sl B e H G s
= N 185
.
vire AE
Jiti T 278 N 195
=
B 1k
it T3t X Rk N 205
=
Gt
N = B sk 4 A 2020. 05
1 /ﬁ( W :Ri BB [2020.05
H = e S ik (7
T RRE F SRR 1.000-00000 0.0 0
N 8% L
B L FRE AR i Hifir P B s e
e W21
= 1
Gt

,10,

=
i
i




A A A A 2020. 05

1 yjh\ W %R % ffﬁﬁﬂ%ﬁﬂ 2020. 05

F SRR 1. 000-00000 0.0 0

LR - HikE ESs =<¥iva $om BT KA T 22

EE N GRRIED)
= 1

a/ (1—a)
%

£ DAt AT
= 1

&t

=
i
i




N - B sk 4 A 2020. 05
1 /ﬁ( W :Ri B AEA  [2020.05
H = e S ik (7
ETETT F SRR 1. 000-00000 0.0 0
No105 | {
e an e sl L K [ & i
3
= 1
B/ (1—58)
%
— R R A
T & !
Gt
— 12 —

=N



— i A A A A 2020. 05
1 WC WER A A A 2020. 05
H = SRR 1. 000-00000 0.0 0
Ij;] 11% fﬁi’é(ﬁﬂi
LR - B & =<¥iva g BT &HE T 22
VEZERTE Wo22%
(km2) = (0.001)1
S N 235
(km2) 2 (0.001)1
PR N 248
(km2) =X (0.001)1
FAEHIE KT 37 74V DVERK, N 258
(km2) = (0.001)1
&t
- 13 - T R



A A A A 2020. 05

1 WC W §R = A A A 2020. 05
H - SRR 1. 000-00000 0.0 0

T3 %55

Ij;] 12% g%‘r"fdx:%

LR - B & =<¥iva g BT BHH T 22
X3
= 1
FhR R R
%
IR
= 1
TR
&t

N

- 14 - i

m



N Y. A 4 A 2020. 05
1 /jb\@,mﬂ% B A A 2020. 05
SRR 1. 000-00000 0.0 0
W BERS BT & ik , IEHE
BN H&RH AT ) HAA
2 - Bk S BN o HAfh &HE L
BATREEREFT & B Wik o128
F4 RS
&t
HAfh
N Y. A 4 A 2020. 05
1 /jb\@,mﬂ% i A 2020. 05
SRR 1. 000-00000 0.0 0
W0 RARHERE & D s E BHERR
BN H&R AT ) HAA
2 - Bk 14 BN o HAfh &HE L
RECREE RS s BHERR HO13E
R&Ra 1
&t
HAfh

,15,

=
i
i




A A A A 2020. 05

NN /2
1 yﬁ( $/ﬁ:|ﬂ 2:2: B A A 2020. 05
SRR 1. 000-00000 0.0 0

FI175
o | (eSS E SRR R i
B B 3 e | H
LR - HikE & =<¥iva g BT KA T 22
X BB oy
pre 1
BRETXIERL H 205
pre 1.6
iﬁ(%%‘l‘% % 21%
-8 1.6
AR AT B 225
pre 1.6
WEZER B 235
pre 1.6
-y
Bl

=
i
i

,16,



A A A A 2020. 05

NN /2
1_¥k-§i1mﬁ§§ B A A 2020. 05
SRR 1. 000-00000 0.0 0

Vakisai
L |Gk Taat oM
w4 B fir i e , B A
X\ - B P W fir e B S i
X BB oy
M 1
AR Ho25%
M 1
] W 265
& 1
s W27
M 1
WA EER H 285
M 1
&3t
T

=
i
i

,17,



A A A A 2020. 05

NN /2
1_¥k-§i1mﬁ§§ B A A 2020. 05
SRR 1. 000-00000 0.0 0

Vakisai
L |Gk Taat TOm
S B fir i e , B A
X\ - B P W fir e B S i
X BB oy
M 1
AR Ho25%
M 1
] W 265
& 1
s W27
M 1
WA EER H 285
M 1
&3t
T

=
i
i

,18,



N Y. A 4 A 2020. 05
1 /:}L\ @’fﬂﬂi% SBNEIA [2020.05
SRR 1. 000-00000 0.0 0
o |1 0 RBR
o B T BT | e
2 - Bk S BN o HAfh &% L
1T v R
50cm X 50cm
&HT
&t
HAfh
N Y. A 4 A 2020. 05
1 /:}L\ @’fﬂﬂi% BT [2020.05
SRR 1. 000-00000 0.0 0
y o | MR SR R
B W H e | e
2 - Bk S BN o HAfh &% L
LFER A IR I B 34E
H
&t
HAfh

,19,

=
i
i




A A A A 2020. 05

AY NN /2
1 /ﬁ( @’mﬂ 2:2: B A A 2020. 05
SRR 1. 000-00000 0.0 0

T3 %55

HiAT AH HLAT BB ) HiAT
HAT ok skl Bl il
SR - - —
UN

,20,

=
i
i




A A A A 2020. 05

1 yjh\ &é’fﬂﬂ% ffﬁﬁﬂ%ﬁﬂ 2020. 05

F SRR 1. 000-00000 0.0 0
W o9E A5 F Y R B KONER R B 72 L, (RERE T . . .

=<¥iva = AT ) EAAR

LR - B i =<¥iva & BT &HE L

FESERT B W 358
KONEHRFRE 2 L (kR ETe

J=t 1
38 H 365
KONE R E e L (R AT

J=t 1
RER i HO37%
AROINE B 72 L

J=y 1
‘o - B 38FE
KONERFRE 2 L (kRETe

J=t 1
FHEREEE B 39%
KONE R E 7 L (R AT

J=t 1

o>
=11}
+

HiAfh

,21,

=
i
i



N Y, Al e AR 2020. 05
1 /jh\ E‘{ﬂﬁ 2:2: B HE A A 2020. 05

SRR 1. 000-00000 0.0 0
108 A5 BMER &8 £
BN km AT ) EAAR
LR - B i =<¥iva & HAfh &HE L
A H 405
km 1
415
km 1
H 42%
km 1
&t
HAATh

,22,

=
i
i




A A A A 2020. 05

1 yjh\ &é’fﬂﬂ% ffﬁﬁﬂ%ﬁﬂ 2020. 05

F SRR 1. 000-00000 0.0 0
o | R
o B km A (i | H
2 - Bk it BN HE HAfh &% i
E R B 435
FEIT I &
km 1
T I (X AR B 4448
AT
km 1
SREE B 458
AT
km 1
&t
HiA

,23,

=
i
i



AEXFICHITLRESEEH EESEH)

FERI #A A1 BEEH

AR E SIS AR E SRS Hhig [RE7- R

Bigi= iz [RE7- B[
RE= 1000~ 30004 K i/ 1285
Hh #R 2L BRI E RS 0
BI=0E A5m i
I 22 R b 10m

HihA = Hhig; [RE7- B[
wR 1/250




RIREMH—ER

£7%4 R2E+ EE4925 CGEHE) =-7\WHHE IBRIEERES

EZE | R BAfS B iy e
XDV ER R 30,000
BRLSREER = 144,883




R2ET E#4928CGERM % ARNHE BREMEHES
‘ 2 AT
oAl 4 A e X454 N
T HEIA | TR | REC | HARE i =
I G T 5o
e X L A ' T
S ] R A A 0 ; :
BALRBEBE ST A itk o] 5 50 0.50
PR L O s 2 050, 050 . )l
AT B . 0.25  0.25
BRI = 1 0.60 1.20 1.80
i 1 B 0 0.50  1.00 1.50
.60
AR T ORI i 105 MBS T
o 1% 1,05 JBi-HEiE ' 0.40 0.40
1 0.7 HRERIER 0.40  0.40]  0.40
i 1 HEEER 0.10 0.40 0.0 150
s 1 A TR 0:10 0.20 0.60 0.60 0.60
i = L6 GBI '
Eoig 4 1.6 | HEIHE 0.60 0.60
$ 1.6 W 0.20
X 1.6 i EER 8-40
3% 1k LEoRR 0.10 0.10 20 240
B K Taks Bas 1 R : 0.0
Eoig 4 1 e -3 0.60
Bas 1 JilEE 050 0.10 0.10
oS 1 e e .
1 1 fﬁ?ﬂ%gﬁk 0.60 v o1 0.0
- . 0.
AR T ORI i 105 MBS o
Fo 1 1.05  dk-TEis 5 40 0.40
1 0.7 HRERER 40| 0.40)  0.40
i 1 HEEER 0.10 0.40 0.0 150
s 1 A TR 0:30 030 0.60 0.60 0.60
TR & 0.9  BFHRER ' 5
TOHk oS 0.9 A .60 1.30
H 0.9 | BH 060 0.60 1.30
p-e 0.9 WA EERK :
s 1 AT OB 010 8?8 0.30 0.60
B K Taks Bas 1 R : 0.30
ok e L : 0.60
Bas 1 JilEE 050 0.10 0.10
oS 1 W EVER :
. £ 1 TRk 0.10 0.10 0.30
T 2 X T 0.60 1.20
S 0.60 1.20
B e 1 fii L5 :
BE T HEBORE s : ey 0.60 0.60 1.20
0.60 1.20




